






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




1- 







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
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














 






 



47-  3  




TGT, GUMPGS D.J.Halli Bengaluru- 45

II








 2014-15  

 2015 




 













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




 




 





 








  
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
1-  / 

 3-  2- 


 (1)

 (2)

 (3)


  

 1- 



 2-  1- 


 1- 

  3-  2- 


 





 

 3-  2-  1- 

V



(REAL NUMBERS) 
Card -1 (Below Average)

      :I

 5 18 (2)  2 7 (1)

 4 15 (3)

 12 25 (4)

 11 87 (5)

 (HCF)  :II

1764   42 (3)  513  270(2) 455  42 (1)

117  7 (5) 40, 96  16 (4)

 :III

31416 (3) 516(2) 35(1)

363 (5) 4815 (4)

 :IV

9,27  243 (4) 2,42  72 (3) 81  27 (2) 18  15 (1)

49, 343  2401 (4)

 (LCM)  (HCF)  :V


70  80 (5) 13  17 (4) 66  12 (3) 17  119 (2)  13  17 (1)

1



 :VI

23 (6)  8 (5)      25 (4)      13 (3) 11 (2) 3 (1)

 4  :VII

 4 18 1

18 = (4 + 4) 2 (B) 18=(44) + 0 (A)

18 = (18  4) 2 (D) 18=(44) + 2 (C)

  30  45  .2

15  (B) 5 (A)

10 (D) 20 (C)

 .3

2n  (B) n (A)

2n+1 (D) n+1 (C)

 .4

2n  (B) n (A)

2n+1 (D) n+1 (C)

 16   812  .5

24  (B) 4 (A)

48 (D) 96 (C)

 :V

 :VI


2



(SETS) 



Card -1 (Below Average)

 AB  B = {4, 8, 12 }  A={2, 4, 6, 8}  .1

A) {2, 4, 6 } B= {4, 6} C= {4, 8}  D) = {2, 4, 6, 8, 12}

 BA   AB={4, 6, 7, 8, 12}  B = {4, 8, 12}  A= {6, 7,8}  .2

 {4, 6, 7, 8, 12 } (D     (C    {8} (B {A}  (A

 BC  .3

 K(LM)  .4

3

(a)(b)

(c)(d)

(a)(b)

(c)(d)

K L

M

K L

M

K L

M

K L

M



 (AB)'  B  A  .5

A'B (D AB'  (C  A'B' (B A'B'  (A

 (AB)'  B  A  .6

   A'B (D     A'B'  (C   A'B'  (B    A'B (A

 (AB)'  .7

   AB' (D     A'B'  (C   A'B'  (B    A'B (A

 AB  B  A  .8

   (D       (C      (B    0 (A

 K(LM)  .9

 n(AB)  .10

 A) = n(A) + n(B) + n (AB)  

  B) = n(A) + n(B)  -  n (AB) 

 C) = n(A)  -   n(B) + n (AB)           

D) = n(A)  -   n(AB) + n (AB)     

4

(a)(b)

(c)(d)



 :II

  A' A= {0,2,4,8}  U = {0,1,2,3,4,5,6,7,8,9,10}  .1




 C  BA .2

 A-B  B= {2, 4, 6} A={2, 3, 4}  .3

n(A) + n (B) = ? .4

2 Marks Question

 B={m, n, o , r s, t }  A={l, m, n, o, p, q}  .1


(AB)C  C = {6, 7}  B = { 3, 4, 5, 6}  A = {1, 2, 3, 4 }  .2


 M= {1, 2, 3, 9}  L= { 5, 8, 9 } K={3, 5, 7, 9}  .3

 K(LM)

 A(BC) .4

 50 = n(AB)  n(B) = 35  27 = n(A)  B  A  .5

  n(AB)

B = {2, 4, 6, 8} A={1, 4, 9 }  U={0, 1, 2, 3, 4, 5, 6, 7, 8, 9}  .6

(AB)' = A'B' 
 16  25  30  150 .7


 (a

 (b


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(Progressions) 

Card -1 (Below Average)
(1 mark MCQ's)

 n (A.P)  :1

 n (G.P)  :2

 n  (H.P)  :3

 n  :4

 n  :5

 r >1  n  :6

 r<1  n  :7

 (A.M)  :8

 (G.M)  :9

 (H.M)  :10

 (H.M)  (G.M)  (A.M)  :11

 :12

A   G   H (b) A   G   H (a)

A G H (d) A G H (c)

 3, 8, 13  :I3

17, 22 (d) 16, 21 (c) 15, 18 (b) 18, 23 (a)

 10 2, 5, 8  :14

30 (d) 29 (c) 26 (b)  27 (a)
6



 10 1_
2  ,  

1_
4   ,  

1_
6 ..........  :15

(d) (c) (b) (a)

 12  3, 6, 12  (G.P)  :16

1028 (d) 2408 (c) 2048 (b)  1024 (a)

 (A.M)  (A.P)  12  8  :17

13  (d) 11  (c) 9  (b) 10  (a)

 (G.M)  (G.P)  4  16  :18

10  (d) 9  (c) 8  (b) 7  (a)

 (H.P)  (H.P)  8  2  :19

5.2  (d) 4.2  (c) 3.2  (b) 1.2  (a)

 :20

G=A.G  (b) H=G.A  (a)

G=AH  (d) A=G.H  (c)

 :21

 (b)   (a)

  (d)   (c)

 :22

525  (d) 325  (c) 425  (b) 225  (a)

 8  Tn=n2+1  :23

85  (d) 75  (c) 68  (b) 65  (a)

7

1__
20

1__
15

1__
30

1__
40



 n  r=2  (G.P)  :24

 (b)   (a)

  (d)   (c)

S=  :25

 (b)   (a)

  (d)   (c)

(2 marks) 

 d=4  a=3  :26

 2n+3  n  (3)  :27

 T10 (ii)  T3  (i)  Tn=2n2+5  :28

 20  1+2+3  :29

 To  Tn  1_
2  ,  

1_
4   ,  

1_
6  :30

 3  r=2  a=4  :31

 T8  T53,6,12  :32

 (A.M)  13  7 :33

 (G.M)  6  4 :34

 (H.M)  9  1 :35

8

a___
1+r

a____
(r+1)r

a____
1-r

a____
r+2



(3&4 marks) 

 25  39  19  17  8 (A.P)  :36

 12  `1500  :37

 `1700  `1750  `1800 



 (ii)  12 (i)

 5+10+15+........+200 :38

 9  96  12  :39

 1365  1+4+16...... :40


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(Permutation & Combination)  

Card -1 (Below Average)

 (MCQ) 

 0! :1

1 (b) 0 (a)

2 (d) -1 (c)

 nCr  nPr :2

nCr = (b) nPr = nCr (a)

nPr - r! = nCr  (d) nPr =    (c)

 nPn :3

 1 (d)  0 (c) n  (b) n ! (a)

 MILK :4

 4 ! (d)  4 (c) 0  (b) 1 (a)

  MATHS :5

 120 (d)  1 (c) 0  (b) 4 (a)

 'n'  nPn = 56  :6

7 (b) 8 (a)

5 (d)  (c)

 8co :7

0 (b) 8 (a)

8 ! (d)  (c)

10

nPr__
r!

nCr__
r



 'r'  5Pr = 60  :8

3 (b) 2 (a)

60 (d) 5 (c)

nP1+ nC1 =  :9

n + 1 (d) 2 (c) n (b) 2n (a)

 1  o :10

-1 (d) 1 (c) 2 (b) 0 (a)

(One marks)

 nPr :1

 nCr :2

 :3

 nPn :4

 nPr nCr :5

 nCr :6

:(2 marks)

 3  1, 2, 3, 4, 5  :1

 4p3  :2

 'n'  nP2 = 90  :3

11



 5P2 - 4p0 + 3p1 :4

 'n'   npn = 5040  :5

 'n'   nC2 = 10  :6

 :7

 5  10 :8

 4 :9

 'r'   11Pr =990  :10

 2(b)  3 (a)  1,2,3,5  :11



:(3 marks) 

 3  10 :1

(b)  (a)

  (c)

 6  5  8 :2




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(Probaility) 

Card -1 (Below Average)

:(one marks)

 101 :1

(d) (c) (b) (a)

 :2

0  (d) 2  (c) -1  (b) 1 (a)

 :3

(d) (c) (b) (a)

 :4

(d) (c) (b) (a)

:(on mark) 

  :1

   :2

(2/3 makrs)

S = { 1, 2, 3, 4, 5, 6}  :1

 = A

 = B

 3 = C

 = D
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 :2


 (b)  (a)

  :3

 = A

 = B

 = C

 = D

 P(H)  35  15  50   :4

 P(T)

 :5

 2 (b) 5  (a)

 30  9 :6

 (i)

 (ii)

 :7

   A  B  C  D  E  A

A (i)

E (ii)

D (iii)


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(Statistic) 
Card -1 (Below Average)

:(one marks)

 :1

 :2

 :3

 :4

 :5

 81  :6

 0.02  :7

 :8

 0.7  1.8  B  A  :9



 :10

 
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(2/3 marks) 

 4710951262  8 :11



 :12

C.I 0 - 10 10 - 20 20 - 30 30 - 40 40 - 50

f 7 10 15 8 10

   36  :13

 


  
12 8 3 4 9

 C.V  :14

  
 70 4.2

 60 3.0


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(SURDS) 
 Card -1  (Below Average)

 .I

 3 :1

4 (d) 3 (c) 2  (b) 1 (a)

  25 .2

2 (d) 3 (c) 4  (b) 5 (a)

 .3

2     3    (b)  2   +  3    (a)

     (b)  2     3    (c)

 5     3   .4

2      (b)    8    (a)

51     (b)    15    (c)

  xy    .5

y      (b)    x    (a)

xy     (b)    x+y    (c)

 :II

 5 2   +  32    .1

  a   +  b   .2

 .3
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 75 .4

 37 .5

 .6

41  (i)

2 34     (ii)

  y     (iii)

      (iv)

 .7

xy   (i)

p+q       (ii)

  5     (iii)

 .8

2   (i)
5p+q       (ii)

     (iii)

 .9

3     7     (i)

6     5     (ii)
62     66      (iii)
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 .10

3p     2q     (i)
5     3     (ii)

xa     yb     (iii)

(2makrs)  .II

 2  + 32   + 52  .1

 .2

45  - 320   + 35  

 .3

5 3p   ,   33p      + 2 3p     

 33   2 .4

 (6 +2 )  (6 +2 ) .5

 (6 - 2 )  (6 -2 ) .6

 (6 - 2 )  (6 +2 ) .7

 .8

 .9

3 + 2

 .10

(3 + 2 ) (22 + 33 ) (42 - 33 )
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(POLYNOMIALS) 
 Card -1  (Below Average)

 .I

 f(x) = x2 - 7x - 8  f(-1)  :1

1 (d) -8 (c) 8 (b) 6 (a)

 3 .2

4 (d) 3 (c) 2  (b) 1 (a)

 4x3 + 3x2 + x +1 .3

1 (d) 2 (c) 4  (b) 3 (a)

x = 1  p(x)=7x2+2x+14  .4

28 (d) 24 (c) 23  (b) 20 (a)

 (dividend)  O   r  b  b  a  .5

a=br + q (d) a=    + r (c) a=bq+r  (b) a=bq-r (a)

:( one mark)

 .1

 ax3 + bx2 + cx + d  .2

 x6 - a6  .3

 .4
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 .5

 .6

:(one mark)

 f(x) = x2 + 7x + 12  .1

f (2) (iii) f(1) (ii) f (o) (i)

 x2 + 4x + 4  .2

x = 1  g(x) = 7x2 + 2x + 14  .3

 x - 1 (2x3 + 3x2 + x + 1)  .4


(x3 + x2 - 3x + 5 )  (x - 1 )  (a)

(4x3 + 16x2 - 9x -36 )  (x + 2 )  (b)

:(3/4 Maths Question)




 g(x) = x -3  p(x) x3 + 3x2 - 5x + 8  .1

 x2 + 5x - 14  .2

 .3

(3p3 - 4p2 + 7p -2)(p-5)

 P(x) = x3 - 6x2 + 11x - 6  .4

x =3  x=2  x=1


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(Quadratic Equations) 
Card -1 (Below Average)



 :1

x2 + x = 3 (b) x2 = 36 (a)

x2 + 2x +1=0 (d) x2+    =5 (c)

 :2

2x2  = 72 (b) x2 = 100 (a)

7x  =     0 (d) x2+2x+1 = 0 (c)

 r  V = r2h  :3

(d) (c) (b) (a)

 xax2 + bx + c = 0  :4

(b) (a)

(d) (c)

 x  x2 = 25  :5

25 (d)  5 (c) -5 (b) 5 (a)

 x2- 3x = 0  :6

0,-3 (b) 0,3 (a)

2,3 (d)  (c)
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 v    :7

(b) (a)

(d) (c)

 x2 - 5x + 4 = 0  :8

-5 (d)  5 (c) -9 (b) 9 (a)

 (Parabola)  :9

 (b)  (a)

 (d)
 (c)

 :10

ax2+bx+c = 0 (b) ax2+bx = 0 (a)

ax2+bx - c = 0 (d) ax2+c = 0 (c)

 a   4a =    :11

 (d)     (c)     (b)  (a)

 :12

b2 + ac (d) b2 + 4ac (c) b2 - ac (b) b2 - 4ac (a)

 b = 0  ax2+bx + c = 0  :I3

 (b)  (a)

 (d)  (c)

 a  3a2- 27 = 0  :14

 (d)  (c)  (b)  9 (a)
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 x2-2x+1=0  :15

 (b)  (a)

 (d)  (c)

 x2- 5x + 8 = 0  :16

8  (d) -8  (c) 5  (b) -5  (a)

 :17

 0 (d)  = 0 (c)  < 0 (b)   >0 (a)

 2x2 - 5x + 6 = 0   :18

  (d)   (c)  3 (b)   (a)

 y = x2   :19

 (d)  (c)  (b)  (a)

 105  :20

2x2+x = 105 (b) x2+2x = 105 (a)

2x2+x + 105=0 (d) 2x2 - x = 105 (c)

 6k2 - 3k = 0  :21

0  (d) 1/2  (c) - 1/2  (b) 2  (a)

 ax2 + bx + c = 0  :22

  (d)   (c)   (b)   (a)

 ax2 + bx + c = 0  :23

  (d)   (c)   (b)   (a)

24

-5__
2

5__
2

2__
5

b__
a

- b__
a

c__
a

- c__
a

b__
a

- b__
a

c__
a

- c__
a



 ax2 +  bx + c = 0  :24

 b2 - 4ac (d) c   a (c) c   b (b) a    (a)

 b2 - 4ac > 0 ax2 + bx + c = 0  :25

 (d)  (c)  (b) (a)

 b2 - 4ac < 0 ax2 + bx + c = 0  :26

 (d)  (c)  (b)  (a)

 - 6  5  :27

x2 - x - 30 = 0 (b) x2+30x - 1 = 0 (a)

x2 - x + 30 = 0 (d) x2+x -30 = 0 (c)

 x2 - 5x + 6 = 0  :28

 (d)  (c)  (b)  (a)

 mn(m+n)  n  m  x2 - 6x + 2 = 0  :29

3  (d) 2  (c) 6  (b) 12  (a)

 :30

x2+5x = 26x (b) 2x+5 = 13 (a)

x2  + 2x2 = 3 (d) x2=5x (c)

 ax2 + bx + c = 0  :31

(d) (c) b2 - 4a c (b) (a)

 2x2 = 3x  :32

0       (d)   0  (c) 0    (b)  0  (a)
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 4x2 + 1 = 0  :33

0       (d) 0          (c)    0  1  (b)   1  4  (a)

 c  a2 = b2 + c2  :34

(d) (c)     (b) (a)

 'r'  A = 4r2  :35

(d) 4A (c)     (b) (a)

V =  F=        :36

(d) (c)     (b) (a)

 :37

 (b)  (a)

 (d)
 (c)

(One mark) 

x2 - 225 = 0  :1

5x2 = 625  :2

 ax2 + bx + c= 0   :3

  = 0  :4

  > 0  :5

  < 0  :6

 ax2 + bx + c= 0   :7
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 ax2 + bx + c = 0   :8

 n  m  :9

 :10

(2+3),  (2-3) (d) ,  (c) 6, -5 (b) 3,5(a)

 :11

3a2 - 10 a - 5 = 0 (ii) x2 - 5x + 8= 0 (i)

(2 marks)  :III

 l = 4  r = 5  'd'  'd'  r2 = l2 + d2  :1

a = 2 ,  u = 0  v  v  v2= u2 + 2as  :2

 S = 100 

c = 17  a = 8  'b'  'b'  c2 = a2 +b2  :3

 =    A=77  'r'  'r'  A = r2  :4

a2 - 3a + 2 = 0  :5

2x2 + 7x - 9 = 0  :6

(x+4)(x - 4) = 6x  :7

 x2+15x + 50 = 0  :8

 y2 - 7y +12  = 0  :9

 (m+n)mn  x2 - 6x +2  = 0  n  m  :10

 y = x2  :11

 y = 2x2  :12
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 (3 marks)  :IV

 5  y=2x2  :1

 (a+2b) (2a+b)  3m2 = 6m + 5   b  a  :2

 kx2 + 4x + (k+2)= 0   :3

 x2 - 4x + 2= 0   :4

 4x2 - 20x + 9= 0   :5

 h=14  V=176  'r'  'r'  V= r2h  :6

(4 marks)

 130  :1

 y = x2 - x - 2  :2

 r2- (m+1) r + 4 = 0  m :3

 (i)

 (ii)

 (iii)


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(SIMILAR TRIANGLES) 



 Card -1 (Below Average) 

 .I




 :1

29

(i)

(ii)

(iii)

(iv)

(v)

(vi)



 2  .2


 .3


 .4




 .5

 .6

=  (ii) =    (i)

=  (iv)   =    (iii)

= =  (vi)   =    (v)

 AE = 3cm  BD = 3cm AB=2cm (T) DE||BE  .7

 EC

 AC = 12  AD=2cm AB=6cm  .8

 AE

 PR  PT = 4.8cm      =      .9


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


 .10




 .11

 OCD = 60° AB||CD  BAO = 70°  .12

  








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 GF  BC = 6cm  HG = 6.75cm    AB = 4.5cm  .13






 .14

5cm 


 225cm2  ABC  ABC DEF .15

 DEF  7.5cm 

LM = 15.cm  `121cm2  64cm2 


  LMNPQR .16

 PQ 

  .17

 .18

  .19


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(PYTHAGARAS THEOREM)  


Card -1  (Below Average)

 4  .I

AC2=   ABC = 90° ABC :1

AB2 - BC2 (a) AB2 + BC2 (a)

AB2 - 2BC2 (a) BC2 - AB2 (c)

 QR2 = PQ2 + PR2  PQR .2

 (d) R  (c) Q  (b) P (a)

ACB =  AB2 = AC2 + BC2  ABC .3

60° (d) 90°  (c) 40°  (b) 50° (a)

LMN= ____   LN = NM  LNM = 90°LMN .4

30° (d) 90°  (c) 45°  (b) 50° (a)

 
 


 .5

5, 8,12 (d) 5,6,9  (c) 8, 6, 10   (b) 8,711 (a)

 32 cm  .6

2 cm   (b) 3cm (a)

(2 - 2)cm (d) 122 cm  (c)

 xcm  .7

2 xcm   (b) (x+2 )cm  (a)

(x-2 )cm   (b) cm  (c)
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 60cm  80cm  .8

120cm  (d) 100cm  (c) 20cm  (b) 140cm (a)

 xcm  ABC .9

x3  (b)  (a) 

(d) (c)

 OC  OB = 13cm  AB = 12cm  .10

10cm  (b) 5cm (a)

20cm  (d) 8cm  (c)



PQ = 20cm  PR = 25cm PQR = 90°  .1

 QR 

 AC = 5 2 cm  ABCD .2



 CE  DC = 6cm   BC = 5cmAC=13cm  .3
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 3units  2units   .4

 
 


 4  .5

 
 .6

 
 .7

  .8

 10cm   .9

   5   3  2  .10



 BO = 8cm  AO=6cm  BO  AO  .11



 .12

 


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(TRIGNOMETRY) 
 Card -1  (Below Average)

 c :1

180 (a)  90° (a)

360 (a) 270° (c)

  .2

 (b)  (a)

 (d)  (c)

 = Sin   .3

  (b)  (a)

(d)   (c)

cosec Sin = 3/5  .4

(d)   (c)   (b)  (a)

 O  90° 0° 



 .5

SinCosTan   (b)   Sin90°CosTan90° (a)

SinTan  Cot0 (d) SinCosTan  (c)

 1  90°O 




 .6

SinCosCosec   (b)  Sin90° CosTan45° (a)

SinCos  Tan90 (d)   SinCosTan  (c)
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 90° 0° 
 .7

CosceSec Cot90°  (b)   Tan90°Sin90°Cot90° (a)

Cosce  Cot    Sin 90° (d)   CesecCot Sec  (c)

Cos 60°  Cos30°  -  Sin60° Sin30° .8

   (b)   (a)

0   (d)   (c)

___=   2  cos =1  .9

90°  (d) 60°  (c) 45°  (b) 30° (a)

___=   3 tan =1  .10

(b)  (a) 

(d) (c)

Sec2 A - 1 =....... .11

Cos2 A  (b) Sin2A  (a)

Cot2 A  (d) Tan2A  (c)

............=Sin2 A+ Cos2 A  .12

0  (b) 1  (a)

   (d) -1  (c)

Sin2 28° + Sin2 62° =....... .13

2Sin2  (d) -1  (c) 1  (b) 0  (a)
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______= - .14

 Sin 25° + cost 75°  .15

Cos65° + Sin75° (b) Cos25 + Cos75°  (a)

Cos65° + Sin15°  (d) Sin25° + Sin75°  (c)

 .16

 (b)  (a)

 (d)  (c)

 .17

 (b)  (a)

 (d)  (c)

 75m  75cm  .18


90° (d) 60° (c) 45° (b) 50° (a)

 x  .19

45° (b) 30° (a)

90° (d) 60° (c)

 :II

 Cos  Sin3tan = 1  .1

 Tan  CosSin3   
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SinSinCosCos  

TanTanTanTan  

 A  4A  SecCosec (A - 2C)  

Sin2 + Cosec2  = 1  .6

1+ Cost2 A  = Cosec2A  .7

1+ Tan2 A = Sec2A  .8

Cos  - Cos = Cot   .9

 50  .10

 30° 

 xCos x = Cos60 - Cos30 + sin60 Sin30  .11

(1+tan2) cos2  = 1  .12

4sin 2B Cos4B Sin6B =1  B =15°  .13

:(2 marks)

  Cosec   Cos   Cot  =     .1

 Sin + Cos  5Cos - 4 = 0  .2

= Cos 53  .3


 .4

  tan = 7/24  .5

4cos2 - 3cos = 3cos   = 30°  .6

(Sin  + Cos)2 + (Sin  - Cos)2  .7
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 B = 30° A = 60°  .8

Cos(A+B) = Cos A  Cos B - Sin A Sin B 

   253  .9

 30° 
   4  5  Sin5 = Cos 4  .10

:(3 mark)

   -             = 4cost Cosec  .1

 40  50   .2


 45° 

60°  45°   .3

 24 
 6  30°   .4

  15° 
60°    .5

 20 
:(4 Marks)

 60°   16 .1

 30°
 60°  30°  50  .2



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 1 -Cos _______
1+Cosec

 1 + Cos _______
1- Cosec



(Coordinate Geometry) 
Card -1 (Below Average)

M .C. Q

 :1

 (b)  (a)


  (d)  (c)

 -x :2

 (d)  (c)  (b)  (a)

   :3

1=.  (b) 0.34 =  (a)

 =.  (d) 1.65=.  (c)

m=  :4

cot(d) cos(c) 5in(b) tan (a)

 :5

(b) (a)

 (d) (c)

 :6

 (d)  (c)  (b)  (a)

 (x2,y2)  (x1,y1)  :7

(d) (c) (b) (a)
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 x________
 y

 y________
 x

 x________
 y

 y________
x

x1-y2___
y1-y2

x1-y1___
y1-y2

y2-y1___
x2-x1

y2-x2___
y1-x1



 :8

 (d)  (c)  (b)  (a)

 :9

 (d) -1 (c) 1 (b) 0 (a)

 60°  :10

3 (d)  (c) 1 (b) (a)

 (4,5)  (5, -2)  :11

(d) 3 (c) - 7 (b) 7 (a)

 -1  :12

 (d)  (c)  (b)  (a)

 :13

90° (d) 60° (c) 45° (b) 30° (a)

 RS=2  PQ=2  :14

 (d)  (c)  (b)  (a)

 (0,aSin60°)  (aSin25,0)  :15

4a (d) 3a (c) 2a (b) a (a)

 10  (2-3)  10  :16


- 6 9 (d) 9-3 (c) -9 3 (b) 6 9 (a)

 (0,1)  (1,0), (0.0)  :17

2+3  (d) 3 (c) 2 +1 (b) 12 (a)
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1___
3

7__
4

1__
3



 -X 
(x,4) (d) (0,x) (c) (x,0) (b) (0,0) (a)

PQ  q(x2,y2)  p(x1,y1)  :19

(x2 - x1)2  -  (y2 - y1)2 (b) (x1 + x2)2 + (y1 + y2)2 (a)

(x2 + x1)2  -  (y2 + y1)2 (d) (x2 - x1)2 + (y2 - y1)2 (c)

op=  p (x,y)  0(0,0)  :20

x2 - y2  (b) x2 - y2 (a)

x2 + y2 (d) x2 + y2 (c)

p  m:n p  (x2,y2)  (x1,y1)  :21



  (b)    ,   (a)

  (d)    ,   (c)

______=p   B(x2,y2) A(x1,y1)  AB  :22

  (b)    ,   (a)

  (d)    ,   (c)
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my2 + ny1_________
m+n

mx2 + nx1________
m+n

m - n_________
mn

m + n________
mn

ny2 + ny1_________
n

mx2 + mx1________
m

mx2 + ny2_________
m+n

mx1 + ny1________
m+n



:(one mark) 

 m = tan :1

 :2

 45°  :3

 :4

 (-4,0) (0 , - 8)  :5

 :6

 :7

 p  m:n p  (x2,y2)  (x1, y1)  :8

:(2marks) 

 (-12,3)  (4,5)  :1

 (-6,8)  :2

(4,1) (6,7)  (3,3), (4,6)  :3

 'm'  (4,3)  (1,0)  (-2, -1)    (m o)  :4



 (2,5)  (-4,3)  :5

 (2)  (1)

  -y  3x + 2y + 1 = 0  :6

 k  (3, k)  (3, 3)(0,0)  3  :7


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1__
3



(Circle-chord Porperties) 
(Circle-Tangent Porperties) 

 Card -1  (Below Average)

 .I

 :1

 (d)  (c)  (b)  (a)

AB  'o' AB = CD = 8cm  .2

 CD  'o'  3cm      

8cm  (b) 5cm (a)

6cm (d) 3cm (c)

 .3

(b)  (a)

 (d)  (c)

 .4

 (b)  (a)

 (d)  (c)

 .5

R-r  (b) R+r (a)

2r (d) 2R (c)
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DC

O.
A B



 .6

R-r (d) R+r (c) 2r  (b) 2R(a)

 .7

4  (b) 3(a)

6 (d) 5 (c)

 QA  PA  A  .8

QA=  PA = 8cm 
10cm  (b) 6cm(a)

7cm (d) 8cm (c)

 BOP  AOP = 60°  .9

60°  (b) 90°(a)

80° (d) 30° (c)

 .10

 (b)  (a)

 (d)  (c)

:(1 Marks Question) :II

 .11

 .12
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  BAC=45°  AC  .13

 3cm  5cm  .14


 3cm  5cm  .15



:(2 Marks Question)

 6cm  4cm .16

 4cm .17

 70°  4.5cm .18


 7cm  PQ  4.5cm .19


 5cm  4.5cm .20


 10cm  6cm .21


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 3.5cm  3.5cm .22

 2.5cm  4.5cm  .23

 7cm

:(3 marks & 4 mark)

 8cm  2cm  4cm .24


 2cm  6cm .25

 8cm

 8cm  2.5cm .26



 3cm .27

 10cm

 .28

 .29

 (a)

 (b)

 (c)



48



(Memsuration) 
Card -1 (Below Average)

 :I

 :1

 (b)  (a)

 (d)  (c)

 :2

4  (d) 2  (c) 1  (b) 0 (a)

 :3


 (b)  (a)

 (d)  (c)

'h'  'r'  :4

r2h(d) 4rh(c) 2rh(b) rh(a)

 :5

2r(h+r)(b) 2rh(a)

 2rh+2r2(d) 2rh+r2(c)

 ...........L.S.A  10cm  15cm  :6

220(b) 4(a)

 1760 (d) 880(c)
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 4:3  L.S.A  T.S.A  :7

hr(b) r3h(a)

 r-h(d) r+h(c)



L.S.A T.S.A (volume)

 rh r(r+h) r2h

 rl r(r+l) 1/3 r2h

  2r2 3r2 2/3 r3

 4r2 4/3 r3


 TSA  CSA 
Sl no 'h' cm 'r' cm C.S.A T.S.A (volume)

1 7 2

2 14 3

3 7 3

4 14 2

5 21 3.5

6 14.7 5

7 15.4 2.5
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 TSA, CSA 
Sl no 'h' cm  'd' cm  C.S.A T.S.A (volume)

1 35 14

2 14.7 6

3 30 10

4 21 12

5 42 8.2

6 22.4 6.6



 1320m2  7cm  :1

 1320m2 TSA  20cm  :2

 1320m2  14m  :3



 L.SAT.SA  :1

1 2 3 4 5

(in cum)  10 14   

(in cm)  7 14   10.5

 L.S.A  T.SA  :2

1 2 3 4 5

in cm (h)  14 21   

in cm  (d) 14 28   1.6
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
 176cm2  7cm  :1

 8cm  60 cm2 C.S.A  :2

20cm  2310cc  :3

 

 
  

L.S.A=  (r1 + r2 )l

l = h2 + (r1 - r2 )2

T.S.A = [(r1 + r2 )l + r2
1  +r2

2 ]
Volume =      (r2

1 + r2
2  +  r1  r2]h


2r2 = C.S.A 

3r2 = T.S.A 
4r2 = T.S.A       
r3 = 
r3 = 

 :I
21cm (d) 6.3 cm (c) 2.8 cm (b) 14cm (a)

 (T.S.A)  :II

7.5 cm (c)   cm (b) 7cm (a)

 :III

2.1 cm (c)  30cm (b) 7cm (a)

52

1__
3

2__
3
4__
3

7__
22



(Memsuration)   

(Scale Drwing) 
Card -1 


1 Area of Triangle =     base  height


2 Area of Rectangle =     Length  breadth



3 Area of Parallelogram =  base  height



4 Area of quadriladeral =  1/2d (h1 + h2)

 

5 Area of Trapezium =  1/2h (a + b)



 :I
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C 

D 40

100

70

50 B30

A

C 

100

50 B30

A

(1(2
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D 

E 50

120
90
60
30

C40

B30

A

(3
C 

D 25

C 25

100
75
50
25 B25

A

(4

D 

E 100

200
150
100
50

C50

B50

A

(5
C 

D 120

E 180

220
210
120
80 B200

A

(6

D 

E 50

F 50

150
110
70
50
30

C30

B50

A

(7
D 

E 70

F 50

160
115
85
60
35

C65

B35

A

(8




 (1)

 (2)


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E 

D 100
F 75

B 50

350
300
250
150
50

F150

G100

A

(9
D 

E 90

F 60
G 15

225
175
125
100
80
60

C 20

B 70

A

(10



(GRAPHS & POLYHEDRA) 
 Card -1  (Below Average)

 .I

 :1

 (d)   (c)  (b)  (a)

 .2

3  (b) 2 (a)

5 (d) 4 (c)

  .3

5  (b) 3 (a)

7 (d) 6 (c)

 .4

2  (b) 1 (a)

 4 (d) 3 (c)

 .5

R+A = N + 2 (b) N+A = R + 2 (a)

N+R +A = 2 (b) N+R = A + 2 (c)

 .6

 (b)  (a)

 (b)   (c)
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 A  .7

2  (b) 1 (a)

 4 (d) 3 (c)

 .8

 20 (d) 15 (c) 10 (b) 5 (a)

 .9

N+A = R + 2 (b) N+R = A + 2 (a)

F+E +V + 2 (b) F+V = E + 2 (c)

 18  8  .10

 16 (d) 14 (c) 12 (b) 10 (a)

 .I
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 (R)  (A)  (N)  .II

Sl.no N R A

1 4 4 6

2 3 5 6

3 3 4 5

4 1 2 1

5 5 5 8

6 2 3 3

7 4 2 4

8 7 5 10

 :III
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  

A 2 

B 2 

C 2 

(1)
(2)

x y 

(3) (4)



 .IV


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(5) (6)

(1) (2)

(3) (4)



 :V

 (4)

 (5)



60

(1)

(2)

(3)



 Card -1  (Below Average)



 
 
 
 
 
 

N + R = A + 2

 
 

F + V = E + 2 

 
 (1)

 (2)

 

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






560 001- 





2- 








560 001- 





560 001- 
I


















 






 



47-  3  




TGT, GUMPGS D.J.Halli Bengaluru- 45

II








 2014-15  

 2015 




 














560 001- 

III








 




 





 








  

560 001-        

IV




1-  / 

 3-  2- 


 (1)

 (2)

 (3)


  

 1- 



 2-  1- 


 1- 

  3-  2- 


 





 

 3-  2-  1- 
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(REAL NUMBERS) 
Card -2 (Average)

 :I

 9  78  65 39  .1

 108  9648  .2

 404  96  .3


 12576  4052  .4

 8m 40cm  16m 32cm  .5








 7  .6

 (1+2 )  .7

 2  .8

 2m+1  .9

 6  180  (LCM)  (HCF)  .10

 30

 :II

 2  384 .1

3 (D) 6 (C) 7 (B) 4 (A)

 LCM  HCF  180  .2

200 (D) 360 (C) 180 (B) 90 (A)

1



   .3
44__
11   (D)  13 (C) 289 (B) 22__

7 (A)

 128  64,24  .4

64 (D) 24 (C) 128 (B) 8 (A)

 y  x  5400 .5

    5400 (A) 2700   5

2 2700 (B) 1350   3

      2     x (C) 675   5

2      675 (D) 375   15

    3 225

       y     75

          4       75

   3 25

      5     5



2



(SETS) 



Card -2  (Average)

 AB  B = {4, 8, 12 }  A={2, 4, 6, 8}  .1

{4, 6} (B  {2, 4, 6} (A

{2, 4, 6, 8} (D {4, 8} (C

 P(QR)


 .2

(PQ)(PR) (B (PQ)(PR)  (A

 (PQ)(PR) (B (PQ)(PR)  (C

 (AB)  B  A .3

AB  (D    B  (C  (B A  (A

 (AB)'  .4

 A'B  (D    AB' (C A'B' (B A'B' (A

 n(AB) n(AB)  = n(A)+n(B) .5

2  (D    1  (C  (B  o  (A

n(AB) n(AB)=3  n(B) = 7 n(A) = 11  B  A .6


10  (D    8  (C  (B  21  (A

 A' A = {0, 2, 4}  U = { 0, 1, 2, 3, 4, 5, 6, 7, 8, 9} .7

{1, 2, 3, 4} (B  {4, 6, 8}  (A

(D      {1, 2, 3, 5, 6, 7, 8, 9}  (C 

3



 AB  .8

 A'  A = {5.6}  U ={2, 3, 5, 6, 10} .9

 n(AB)   n(AB) = 3  n(B)=7  n(A) = 17  B  A  .10

15 (B 21(A

 10 (D  8 (C

 :II

 A-B B= {3,4,5}  A = {1,2,3,4}  .1

 A' A= {0, 2, 5}  U={0, 1, 2, 3, 4, 5}  .2

 n(AB) n(AB) =2  n(B)=5   4= n(A)  .3



 C  B A .4

4

(a)(b)

(c)(d)

(b)

(d)

(a)

(c)



2 Maths Question

 :III

 R= {a,c,e,g}  Q={a, e ,  i, o, u }  P={a, b, c, d, e}  .1


B={4, 16, 20,28}  A={8, 16, 24,}  U={4, 8, 12, 16, 20,24,28}  .2

 (AB)' = A'B' 
A/B  B/A  .3

 n(AB)  n(AB) = 51  n(B) = 26 n(A) = 37  .4


28%  60%  70%  .5


3 Marks Question

:IV

  B={-1, -2, 3, 4, 5, 6} A={-3, -1, 0, 4, 6, 8 10}  .1

A(BC) = (AB)(AC)   C={-6, -4, -2, 2, 4, 6}

 C={2,4,5,6,}  B={2,3,4,5}  A=[1,2,3} .2

 U={1, 2, 3, 4, 5, 6,7,9,11,13,15}

(1) (AB)' = A'B'

(2) (AB)' = A'B'

 24  42  50  .3

 (2)  (1) 
  (3)

5



(Progressions) 

Card -2  (Average)
(1 mark MCQ's)

 x  8, x , 12  :1

12  (b)  8  (a)

14  (d) 10  (c)

 11  132  11  :2

 12  (b) 10  (a)

16  (d) 14  (c)

 10  8   5  2  :3


 145  (b)    150 (a)

140  (d) 155  (c)

 x  2x +1  4x  13-x  :4

12  (d) 10  (c)  8  (b)    7(a)

 x  G.P (x+1), (x-1) , (x+2)  :5

2  (d) 10  (c)  8  (b)  6  (a)

T10=    1_7  ,  
1_
4  ,1  :6

 -20  (b)  -10  (a)

-40  (d) -30  (c)

6



 12  2  64  (G.P)  :7

 6152  (b)  7152  (a)

9152  (d) 8152  (c)

 (r)    1_2  ,  
1_
4  , 

1_
8   :8

 1_8  (b)  1_4    (a)

1_
6    (d) 1_

2    (c)

T4 =  r = 1_2    a=1  :9

(b) (a)

(d) (c)

 (d)  39  19  17  (A.P)  :10

2  (d) 8  (c)  6  (b)  4  (a)

 n  Tn = 76 ,  d=4 , a = 12 (A.P)  :11

 a    T22= -39 , d = -12  (A.P)  :12

 d    T15= 55 , a = 13  (A.P)  :13

 155,8,11,14.........  :14

 S4  Tn=5n - 2  :15

    T11   =          ,   T5  =   :16

 3 , 3, 33  .......  :17

 x  (a+b)2, x, (a-b)2  :18

7

1__
8

1__
16

1__
4

1__
2

1__
12

1__
15



 x   :19

 2 +  2_3   + 2_9 +....  :20

:(2 Marks)

 50°  (A.P)  :21

 44  10  6  24  8  4(A.P)  :22



 1312:5  7(A.P)  :23



 6  300  200 :24

 216  21  3  :25

T25 = ?  T11 =      T5 =      :26

   T7 =       T5  T10 = 32:1  :27

 1536  3, 6, 12,........  :28

 T4 = 125  S6 : S3 = 126  :29

 6  8  :30

 H.M  G.M ,  A.M  :31

 AGH  b = 16  a = 4  :32

 (A.M)  119  :33

8

1__
12

1__
15
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(3/4 Marks) 

 (H.M)  6 (G.M)    (A.M)  :34

H =        a. H. b  :35

 55  345  6  (A.P)  :36



 85  22  :37

 4 

 1    3  :38



9

2ab___
a+b
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(Permutation & Combination)  
Card -2 (Average)

:(MCQ)

 'n'  n = 120  :1

8  (d) 5  (c) 6  (b) 4  (a)

 nCr :2

 r  (b)   (a)

  (d)   (c)

  5 +   3 :3

126  (b)  10 (a)

 60 (d) 30  (c)




 10 :4

110  (b)  100 (a)

 140 (d) 120  (c)

 8C3 + 7C3 - 8C5- 7C4 :5

112  (b)  0 (a)

 70 (d) 35  (c)

 'r'  5Pr  = 5!  :6

 5  (b)  1 (a)

 10 (d) 0  (c)

10
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 20C18 :7

 300  (b)  360 (a)

 190 (d) 180  (c)

 5  8  :8


 30  (b)  35 (a)

 42 (d) 42  (c)

:(1 mark) 
 nPr :1

 12P4  :2

 :3

:(2 mark) 

 'n'   nC8= nC12  :1

 'r'  'n'  nCr = 126   nPr = 3024  :2

 'n'  (n +1)! =12 (n -1)!  :3

 3  7  :4

 3  2, 3, 4, 5  6  :5


 'n'  nP4 =  20nP2  :6

10P3 = 9P3 + 3.9P2  :7
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M  CHEMISTRY :8



 nCr = nCn-r  r=3  n=5 :9

 'n'  nPn = 5040  :10

 20  :11

:(3 marks) 

 8  :1

  5 (a)

 (b)

 4  5  :2

 4  (a)

 2  4  (b)

 5  4  6 :3


 (a)

 2  (b)

  'x'  + =  :4 


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(Probaility) 
Card -2 (Average)

 3  :1

(b) (a)

(d) (c)

 :2

(d) (c) (b) (a)

 2  4  5  3  :3


(d) (c) (b) (a)

:(1 mark each)

 :4

  (iii)  (ii)   (i)

 (vi)  (v)  (iv)

:(2/3 marks) 

 5  :1

S = {(a,b)/ a, b = 1, 2, 3, 4, 5, 6 }

10  = A

6  = B

 3  = C
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  :2

 (ii)  2 (i)

 (iv)  (iii)

 :3

7  (ii)  (i)

 2    :4 

 

  = A

  = B

  = C

AM   MATHEMATICIAN :5



  1012 :6

 
 (a)

 14(b)

 (c)


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(Statistic) 
Card -2 (Average)

:(MCQ)

 :1

 (d)  (c)  (b)  (a)

 :2

(b) (a)

(d) (c)

 6, 7, 10, 11, 16 :3

5  (b) 52 (a)

17  (d) 10  (c)

 5  :4

16  (b) 6 (a)

45  (d) 30  (c)

 N = 10  x = 150  :5

20  (b) 15.5 (a)

12  (d) 15  (c)
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 :6

(b) (a)

(d) (c)

 X  N = 10  x = 300  :7

30,000  (d) 300  (c) 3000  (b) 30 (a)

 16  :8

256  (d) 32  (c) 45  (b) 4 (a)

9.0  9.8, 9.9, 9.2  (C.V)  :9


 (b)  (a)

 (d)  (c)

 C.V = 0.1   X = 20  :10

0.2  (b) 2 (a)

0.02  (d) 20  (c)

(one marks)

   X , C.V :11

 x  8  2, 8, x , 12  :12

 C.V  10 (S.D)  :13


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 :14

 :15

 :16

 :17

(2/3 marks)

 51.6  21.2  69  58  :1



 4 :2

 ''S'' 

 :3

x : 2,  4,  6,  8,  10,  12,  14,  16 

 2.5  45  4


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(SURDS) 
 Card -2  (Average)

 4  .I

 2x3 :1

3x (d) 2x (c) 3  (b) 2 (a)

  23x2 .2

3x2 (d) 3x (c) 3  (b) 2 (a)

 .3

6x    5y   (b) 6x   - 5y   (a) 

5x+y   (b) 6xy   (c) 

 2+ 32 + 52 .4

92     (b) 2  (a) 

52     (b) 32  (a) 

 237  334 .5

2 97      (b) 6 328 (a) 3 928    (b)  637  (a) 

 5 + 3  .6

5 + 3    (b) 5 - 3  (a) 

3 + 5      (c) 3 - 5  (a) 
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 2 316 .7

4 34      (b)  8 34  (a) 

4 32        (b) 8 32   (a) 

:(one marks) 

  4 p+q .1

  x mn .2

____  .3

 .4

 .5

 .6

22a + 3 8a  -  2a 

 2a   4a  3a .7


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(POLYNOMIALS) 
 Card -2   (Average)

 .I

 -2  5  .1

x2 - 2x + 5 (b) x2 +5x -2 (a)

x2 -3x -10 (d) x2 +3x -10 (c)

 '0'  ax2 + bx + c  .2

  (d)  (c) 0 (b) (a)

 k '1'  x2 + kx - 5  .3

5  (d)   0  (c) -4 (b) 4 (a)

 3y2 + 4y + 1 .4

1  (d)   4  (c) 3 (b) 2 (a)

 f(0)f(x) = x2 - 4x  .5

-4  (d)   8  (c) 0 (b) 4 (a)

:(one makrs)

 .1

 f(-2)  f(x) = x3 + x2 - 4x  .2

 x2 - 3  .3

 f(x) = x3 +17x - 21- x2  .4
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-6__
a

b__
a

-c__
a



 (x-1) p(x) = x3 +4x2 +3x-1  .5

 .6

:(2marks)

 f(x) = 2x3 + 3x2 - 11x+6  .1

f(-3)  (ii) f(-1) (i)

 x2 + 9x - 36  .2

x = -1  g(x) = 2x2 - 9x + 9  .3

 k  f(x) = x3 - 2x2 + 4x + k  x = 1  .4

 2x + 3  2x3 + 3x2 +x + 1  .5

:(3/4 makrs) 

 g(x) = x +1 p(x) = 4x3 - 10x2 + 12x - 3  .1

  6x4 + 13x3 + 30x + 20  .2

 3x2+2x+5

 R2  R1  (x - 2)  ax3 + 2x2 - 3  2x3 - 5x2 + x + a  .3

2R1 +  R2 = 0 (ii) R1 =  R2 (i)  'a' 

a = b  (factors)  ax2 + 5x + b  (x -     )  (x-2)  .4

 x + 4  x4 + 10x3+35x2 + 50x + 29  .5

 b  ax3 - ax3 + bx + 6 


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(Quadratic Equations) 

Card -2 (Average)

   :(M.C.Q) 

 :1

5x=20  (d) x3-1=4  (c) x2-6x=4  (b)  x2-6x+4  (a)

 :2

6x2+7=10 (d) x2-6x+5=0  (c)  x2+    = 0  (b) 5x2=3+x  (a)

 :3

p3=27 (d)  p(p-3)=0  (c)  p(p2+3)  (b) p(p-3)  (a)

 (2x - 1) (x+3 ) = 0  :4

  (d) -       (c) -3  (b)  3  (a)

      :5

 = 32 (d)  = 16  (c)  2x2=8 (b) x2=16  (a)

  105  :6

2x2 - x = 105  (b)  x2 + 2x = 105  (a)

2x2 + 2x + 105 = 0  (d) 2x2 + x = 105 (c)

 'a'4a =       :7

a = 10.50  (b) a = 20.25  (a)

a = 2        (d) a =4.5      (c)

 :8

50 (d) 100 (c) 2 (b) 1 (a)
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 (2 - 3 )  (2+3)  :9

x2 - 4x +1 = 0  (b)  x2 + 4x +1 = 0  (a)

x2 - 2x - 3 = 0  (d) x2 + 2x +3 = 0 (c)

 x2- m n + 4 = 0  m :10

1 (d) 0 (c) 2 (b) 4 (a)

 b = o  ax2 + bx + c = 0  :11

 (b)  (a)

 (d)  (c)

 (Zero)  x2 - 5x = 0  :12

± 5 (d) + 5 (c) - 5 (b) 0 (a)

 a = 0ax2 + bx + c = o  :13

b = 0 (d) a  0  (c) a = c (b) b = c (a)

 q  x2 + 3x + q = 0  :14

 0 (d) 3  (c) 2 (b) 1 (a)

 182  :15

x(x - 1)  = 182  (b)  x(x+ 2)  = 182  (a)

(x + 1) (x -1) = 182  (d) x.y  = 182 (c)

 m-1 + n-1  x2 - 6x + 2 =0  n  m  :16

 2 (d) 3  (c) 1.5 (b) 6 (a)

 a = c  ax2 + bx + c =0  :17

(d)  (c)  (b)  (a)

23



 ax2 + bx + c =0  :18

 a=b (d) a =c  (c) b=o (b) c=o (a)

             :19

(3x - 5)  (5x+ 3)= 0   (b)  (3x+ 5)  (5x+ 3)= 0  (a)

(3x- 5)  (5x- 3)= 0   (d) (3x+ 5)  (5x- 3)= 0  (c)

 x = 7  x2 - px - 28 = 0  :20

 (d)   (c) - 4 (b) 4 (a)

 30sqcm  4cm  (h)  :21


2x(x+ 4) = 40   (b)  x(x+ 4) = 30  (a)

x(x+ 4) = 60   (d) x(x+ 4) = 15  (c)

 -2  +2  :22

 (b)  (a)

 (d)  (c)

 3 - 22  3 + 22  :23

x2+ 6x - 1= 0    (b)  x2+ 6x + 1= 0  (a)

x2- 6x - 1= 0    (d) x2- 6x +1= 0  (c)

 a = 0  ax2 + bx + c = 0  :24

 (b)  (a)

 (d)  (c)
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(one mark) 

 :1

5 - 6x =       x2 (ii) x2 +      x  =  0 (i)

x2  -  y2  = 0 (iv) x2 -10x + 74 = 0 (iii)

 306  :2

 :3

7x  =        (ii) (x + 8)2 - 5 = 31 (i)

 m =2  k=100  'v'  v  K=     mv2  :4

 b2 - 4ac = 0  :5

 b2 - 4ac > 0  :6

 b2 - 4ac < 0  :7

 6k2 - 3 = 0  :8

    :9

 3a2 - 10a - 5 = 0  :10

(2 marks)  :II

 h = 14  v=176  r  r  v = r2h  :1

 3x2 - 2 6  x + 2 = 0  :2

 :3

0.2 t2 - 0.4t = 0.03 (ii) x +      = 2.5 (i)

m -     =   6 (iii)
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 4x2 + x - 5 = 0  ::4

 a(x2 +1 ) = x (a2 + 1 )  :5

 pk2 - 12k + 9 = 0  p :6

 +  3m2 = 6m + 5  b  a  :7

 y = 3x2 :8

(3 marks) 

 7  y=2x2  :1

 (P +q)2 - 4pq  2a2 - 4a + 1 = 0   q  p  :2

 q2x2 - 3qx + 5q = 0  :3

 A = 16 3  'a'  'a'   A  =           :4

:(4 marks)

3p2 = 16q  3  x2 + px + q = 0  :1

 196  :2

 11  21

 y = - x2 + 8x - 16  :3


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a__
b

b__
a
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(SIMILAR TRIANGLES) 



 Card -2   (Average)

 4  .I

 :1




 (a)

 (b)

 


 (c)



 (d)

 .2

 (b)  

 (a)

 
 (c)



 (c)

=  .3

(b) (a)

(d) (c)

=  =       .4

(b) (a)

(d) (c)
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a___
a+b y__

x
x___

x+y
x+y___

y
y___

x+y

BP___
PC

2__
3

BQ___
AQ

3__
2

2__
3

2__
5

5__
3



L =  _____  P = 75°  =       =         .5

  75° (b)     150° (a)

105° (d)    37.5° (c)

 x  .6

 90° (b)      30° (a)

45° (d)    60° (c)

 .7

 


 (b)  (a)

 (d) 

 (c)

 .8

 (b) 


 (a)

 (c)   (c)

AM :  ML  =  .9

AQ : QN  (b) AQ : AN  (a)

AM : AL (d) QM : NL (c) 

 AC  .10

7cm (d)    14cm   (c)    8cm  (b)    10cm  (a)
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QR__
MN

PR__
LN

PQ__
LM



 .II

 APQ =  ACB  AC  AB  Q  PABC .1

 AP. AB = AQ.AC

 DAB = ABC ADBC  A = 90° ABC .2

 AD = DC 

=  DE = 3CE  CAE  =  EBD  .3

 O DF   BECFAB  BE ACABC .4

=   

=             AD  BC A = 90° ABC .5

 O  AB = 2 CD  AB||CDABCD  .6

 COD  4 =  AOB

 AD =   BD  .7

 BC  DE = 1.5cm 
 .8


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BD__
AC

BF2____
CE2

BOF______
COE

AB2____
AC2

ABD______
ACD

1_
2



 AC  AB  N  M  .9

MN =    BC

AQO  BPO  .10

 BPO  100cm2  AQO 

  BD ACAD = 2cmAC=8cm  .11

 AB

 AC AD||BC  ABCD .12

 AO:OD =2:5   OBD

BO  OD = 8cm 

   


 .13

 PE=3.4cm  PR  PQ  F  E  PQR .14

 EF||QR  FR = 2.4cm  PF = 3.6cm EQ=3cm

 1.8cm  256cm2  81cm2 


 .15



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(PHTHAGARAS THEORAM)  


 Card -2   (Average)



 4m  5m .I


 C  B   8km  B  A  .2

 C  A 
 62 cm  .3

 36cm  .4

 BD  AC  ABCD  .5

 AD  32  22 

 cm2  .6

 ABXYAB     C ABC .7

 50cm2  ABXY  AB=52 cm 
 AD = 6 3  cm ADBC  ABC .8

 36cm  ABC
 OQS  PR  PQRS .9

PR2 + QS2 = PQ2

31

83 ___
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 25cm  'o'  .10

 7cm 

 80cm  60cm  .11


  BC= 14cm AB=5cm  ABCD  .12

 AC  AD = 7cm

AB2= 2AC2  AD BC  AB = AC  ABC .13

AB2 + CD2 = BD2 + AC2  ADBCABC .14

AB2 - BD2 = AD2 - AC2  ADBCABC .15

 .16




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(TRIGNOMETRY) 
 Card -2   (Average)

 :1

60° (a)  30° (a)

45° (a) 90° (c)

  3  .2

45° (a)  30° (a)

90° (a) 60° (c)

 tan90° .3

 1 (b)  0 (a)

  (a) 3  (c)

______=     +       .4

2 (a)  0 (a)

1 (d)  (c)

______=     +       .4

 .6

1 +Tan2x = Sec2x (b) Sin2x + Cos2x =1  (a)

   (d) 1+Cot2x = Cos2x  (c)

Sec2   - tan2 = ______ .7

tan (a) Sec (c) -1 (a)  1 (a)
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Cos26 _______
Cosec

Sin26° _______
Sec

1_
2

Tan20° _______
Cot7

Cot 54° _______
Tan3



:(one mark)

 60°  15 .1

sin2     +  cos2    -  tan         =      .2

 x   3  tan x = 3  .3

 sin  tan  + cot2 <90°  .4

 < 90 tan = 7/8  .5

:(2marks)

 cot x + cose x Sec x =2  .1

  B  13 sin A = 5  .2

   cos =     .3

= 3/4  cot= 7  .4

=    A = 2 - 1  .5

 13cos - 5 = 0  .6

=  sec =  4/5  .7

  tan = 4/ 3  .8

 .9
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_
6

_
3

_
4

(1+cos) (1- cos)__________________
(1+sin) (1-sin)

5sinA-2cos A____________
tan A

5_
13

5tan+12cot______________
5tan -12cot 

cosec2+ sec2______________
cosec2 -sec2 

tan A______
1+tan2A

2 __
4

sin+ cos_________
sincos

sin____
cos

tan______
1+tan2

3sin+ 2cos_________
3sincos

cos45°______________
sec30°cosc

1_
2



   +                       = 2sec   .1

 'K'  sec (1+sin) (1sin)K  .2

= tan (1 + 2)  .3

  1+2  1/3 = tan 2 ,  1/2 = tan1 


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sin90_______
1sin

cos___________
1cos(90)

tan+ tan___________
1tantan



(Coordinate Geometry) 
Card -2 (Average)

:(one mark) 

 :1

 :2

 (sin, cos )  (cos, -sin)  :3

 C   BA  :4

 K  5  (5,k)  (3,4)  :5

 -3   y  :6

:(2 marks) 

 x  5  (0, x)  (3,2x)  :1

 'a'  (-3,a)  (9,7)  p(2,-1) :2
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 (14,12)  (5,2) (3,0)  :3

 C (4,1)  B (-3, 0) A(1,-3)  :4

 (-7,1)   (-5,4)  :5

 (1,2)  (7, -6 ) (1, -11) (-5, -3)  :6

 :7

(6, a)  (10, 1) (2, 1)  (i)

(10, 8) (3,2) (1,6) (ii)           

(6,2) (-1,1) (3,5) (iii)         

(11 -3) (3,5)  (3, -3) (iv)         

 (0,4)  (9,5)  (8, - 4)  :8

BD  AC  D(1,3)  C (9,3 ) B(5, -2) A(-3, -2)  :9



 (4, -9)  (-3, 5)  (2,-3)   :10

 B  3:2  B  A(-2,7)  C(1,1) :11



 (6,8)  (-3, 10)  :12

:(3 marks) 

 C (-a 3,a3)  B(-a,-a),A(a,a)  :1

bx=ay  (a-b, a+b)  (a+b, b-a)  (x,y)   :2

 (-3.2)  (5,6) (3,1)  :3


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(Circle-chord Porperties) 
(Circle-Tangent Porperties) 

 Card -2  (Average)

 .I

 .1

 (d)  (c)  (b) (a)

 RS  PQ=6cm  RS  PQ  .2

6cm (b) 5cm (a)

3cm (d) 8cm (c)

APO =         AOP = 60°  .3

 50° (b)  60° (a)

 30° (d)  90° (c)

 AE  BC=5cm AB=12cmABC  .4

6cm (b) 5cm (a)

12cm (d) 7cm (c)
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 1.5cm  2.5cm  .5


2cm (d) 5cm (c) 4cm (b) 3cm (a)

 NOP  MPO = 35°  .6

 AOB  AOP = 55°  .7

 LKN  NLO= 25°  .8



 DAB = 50°  ACB = 60°  .9

 ABD
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 5cm 4cm 3cm  3 .10



 .11

 9cm  8cm 7cm 
 3.5cm  5.5cm .12

 AB 12cm  ABC  .13

 CE  BD  AF AC=10  BC=8cm



 3.5cm .14


 40°  3cm .15

 .16

 ABC = 2(AP+BQ+CR)

8cm  4cm  2cm  .17


:(3Marks & 4 Marks)

 4.5cm .18



 3cm  5cm  .19

 5cm 
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 2.5cm  4.5cm  .20


 10cm  3cm  4cm .21


 .22

 (a)

 (b)

 (c)

 .23


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(Memsuration) 
Card -2  (Average) 

 :I

 6cm  4.2cm :1



 10cm  8cm 6cm  :2


 3cm  12cm  :3



 5cm  10cm  :4



 0.2cm  10cm :5



6cm  3cm  30cm :6




60cm  30cm  40cm   :7



 77cm  28cm  45cm  :8


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(Memsuration)   

(Scale Drwing) 
Card -2 




 (1)

 (2)


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C 

B 200
1200
700
500

D150

E300

A

(1(2
C 

E 25
70
60
35 B30

A

D 

E 60
F 40

100
85
75
45
35

C55
B35

A

(4



(GRAPHS & POLYHEDRA) 
 Card -2  (Average)

 .I

44

(1) (2)

(3) (4)

(5) (6)



 .II

 .III
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Sl.no N A R

1

2

3

4

5

4

3

3

6

5

7

6

4

10

7

5

5

3

6

4

A
(1)

B
(2)

E
(3)

Q
(4)

C

B

A

D

E

L

K

M

A B
C

AB

C

D E

F



 .IV

 .V

46

(2)(1)

(4)(3)

(1)
(2)

(3)



 (7)  (8)

 (9)



 (10)


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(5)
(6)










560 001- 





3- 








560 001- 





560 001- 
I


















 






 



47-  3  




TGT, GUMPGS D.J.Halli Bengaluru- 45

II








 2014-15  

 2015 




 














560 001- 
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




 




 





 








  

560 001-        
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
1-  / 

 3-  2- 


 (1)

 (2)

 (3)


  

 1- 



 2-  1- 


 1- 

  3-  2- 


 





 

 3-  2-  1- 

V



(REAL NUMBERS) 
Card -3  (Above Average)

 :I

 LCM  HCF  92  510 .1



 32l  616l   .2

 

 65, 117  'm'  65m-117  117  65 .3



 2 - 3  .4

 y  xh=56x+7xy  'h'(HCF)  72  56  .5

 7  5  967  2053  .6

 1000m  .7

 18  8 


 14,112  84  .8

 9 +2  .9

1



 8   3  5km .10

 24  12 


 4  p2+q2  q  P  .11

 (HCF)  (LCM)  .12

 800 


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(SETS) 



Card -2 (Above Average)

M.C.Q Question

 n(AB)  B={b,c,e}  A={a,b,c}  .1

2 (D) 7 (C) 3 (B) 4 (A)

 A  A = { x:x  3  10}  U={0,1, 2, 3, 4, 5, 6,7,8,9}  .2


{0,6,9} (D) {6,9,0} (C) {0,3,6,9} (B) {0,1,2,3,4,} (A)

 n(AB)=50  n(B)=35  n(A)=27  B  A  .3

 n(AB)

15 (D) 22 (C) 2(B 12 (A)

 A'B  .4

 ABC={6, 7}  B={3, 4, 5, 6} A={1, 2, 3, 4}  .5

{3,4} (B) {1,2,3,4,5,6} (A)

{6} (D)  {1,3,5,7} (C)

3

(b)

(d)

(a)

(c)



 20  30  40 .6


{50 - 40} (B)    {40 - 30} (A)

{30-20} (D)  {40 - 20} (C)

B={7, 8, 9}  A={0,1, 2, 3}  U={0,1, 2, 3, 4, 5, 6,7,8,9}  .7

 B'-A

{0,1,2,3} (B)    {4, 5,6} (A)

 (D)   {7,8,9} (C)

C={22, 23, 24,25,26}  B={4,5, 6, 7,8}  A={1, 2, 3, 4, 5}  .8

A(BC) = 
{4,5,6,22,23} (B)     {1, 2,3,4,5} (A)

{1, 2, 3, 4, 5,6,7,22} (D)     {1, 2,5, 24, 25, 26} (C)

AB  A-B=A  B  A  .9

B (B)    A (A)

 (D)         U (C)

17  12  22  60  .10

 
28 (B)    32 (A)

        21 (D)  33 (C)
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 :I




 .1

  .2

 A - B  B={3,4,5} A={xn, 14}  .3

 A'B'  (AB)' = {2,3, 6}  .4

= A - A '  U,A  .5

2 marks

 K(LM)    M={1,2,3,9}  L = {5, 8, 9} K={3, 5, 7, 9}  .1

(AB)(A/B) = A  .2

 C ={4, 5, 6,7,}  B ={1, 2, 3, 4}  A ={2, 4, 6, 8}  .3

1) (AB) C = A (BC) 

 11  29  50  .4


 55  25 


 36  .5




 5 




5



3 marks

 A={ 1, 3, 5,  7,  9}  U={0, 1, 2, 3, 4, 5, 6, 7, 8, 9}  .1

 B={ 0, 2, 4,  6, 8} 

(AB)' = A'B' (1)

(AB)' = A'B' (2)

30  50  90  150 .2


  45  63  93  120  .3

 27  24  45 




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(Progressions) 
Card -3 (Above Average)

(1 mark MCQ's)

 :1

48, 32, 22, 10.........  (b)  4, 11, 28, 26 ....  (a)

7, 21, 63, 189.........  (d) 27, 19, 40, 70 ....  (c)

     ,        ,        :2

   (d)        (c)     (b)      (a)

 S3  Tn = n2 +1  :3

 19  (b)    17(a)

24  (d) 21  (c)

 T5  S4 = 42  S5 = 65 (A.P)  :4

25  (d) 23  (c)  21  (b)    24 (a)

 :5

  6, 4, 3............. (b)     (a) 

1,   (d)   (c)

 25  20  25(A.P)  :6

 294  204  16  :7

7

3__
4

2__
3

4__
5

5__
4

3__
5

6__
7

5__
6

7__
8

6__
7

5__
6

4__
5

1__,
2

1__,
6

1__.........
8

1__,
3

1__,
6

 1__.........
12

2__,
3

1__,
2

 2__.........
5



 T14  =      T4 =     :8

 3  600  1  :9

 0.6 + 0.06 + 0.006 + .......  :10

(2 marks )

 26   6  20  6  (A.P)  :11

 T12 = 36  T5 : T10 = 1:2  :12

 8  2  18(over)  6  :13

 6 (b)  8(a) 


 6  3  5  :14



 r=2   96        :15

 3  8  13  10  (G.P)  :16


 10  :17

 18  11  11  7  7(A.P)  :18

(Hind 7T7  = 11T11)

 35  400  2001  :19

 785 
 5  5  2  :20

 T20 = - 112 
8

3__
2

1__
11

3__
23



 T7      T4  =      T4 =     :21

 9 6  6  :22

(3 & 4 marks) 

 475  10  175  10  (A.P)  :23



  :24

  27:28 

 S1,S2,S3  n, 2n , 3n  :25

 S3=3(S2-S1)

 135  3  54  12 :26

 (A.P)

 25  10  15  15  10 (A.P)  :27

 35  10  25  25  10  AP  :28



 66  n  -1  n  22  AP  :29



 10  24  4  -13  12 AP  :30
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 GP  -4  2  4  3  5GP  :31

 20  4  2  :32

 50  2  GP  :33



 15  a, ar1, ar2, ar3 ....  :34

 30 

 18  30  4  :36

 (AP)  x,y,z   a =   b  = c  GP a,b,c  :36

 (p+q-n)  n  P  q  q  P  :37



10

1__
x

1__
y 1__

z



(Permutation & Combination)  
Card -3 (Above Average) 

:(MCQ)

 nCo - nCn  :1

n (b) n (a)

0  (d) -1 (c)

 'n'   nP5 = nP4  :2

1  (d) 10 (c)  (b) 5 (a)

 'r'   5Pr = 5!  :3

5 (b) 1 (a)

10  (d) 0 (c)

 2  1, 2, 3, 4, 5  :4

5! (b) 8 (a)

16  (d) 64 (c)

 4  :5


3P3 2P2(b) 7P2 (a)

3C3 2C2  (d) 4C2 (c)

 1  2  3  4 :6

   4P2 3C1(b)   4P2 3P1 (a)

     4C2 3C1  (d) 4C2 3P1 (c)
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 'r'  nPr = 20  nCr = 10  :7

30 (b) 200 (a)

2  (d) 10 (c)

:  :8

 nCr = nPr r (b) nPr= nCr r (a)

 nCr = 
nPr +r (d) nPr= nCr  r (c)

  nC1 =  nC3= nC8  :9

336  (d) 24 (c) 11 (b) 3 (a)

 2  34  :10

5  (d) 6 (c) 24 (b) 9 (a)

(2 mark) 

 44  :1

8C4 + 8C5 = 9C4  :2

 :3

 =    1  r  n 

 2  3  (vowels)  4  (consonants)  7  :4


 'n'  nP3 = 210  :5

 'n'    2n+1Pn-1  : 2n-1Pn= 3:5  :6



 :7

12

n__
r

nCr_______
(n-1)c

             (r-1)



 0,1, 2, 3, 4, 5, 6, 7, 8, 9  8000  4000 :8



(3 marks)

  3   8  12  :1

 8  

 5  5  11 :2

 8 

 2  5  4  16 :3

 3  11 

 3  1  4

  LASER :4

 (i)

 3  (ii)

 R  (iii)


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(Probaility) 
Card -3 (Above Average)

   P(B) =      P(A)  =      B  A  :1

P(AUB)  = 
(d) (c) (b) (a)

 401  :2

 5 
(d) (c) (b) (a)

 :3

(b) (a)

(d) (c)

 :4

 1 (d) (c) (b) (a)

  3 :5

(b) (a)

  (d) (c)

 53  :6

(b) (a)

  (d) (c)
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:(2/3 makrs)

  3   :1

 2 = B  2  = A

 = D  = C

 53 :2

 6  :3


 7  52  :4


 57 (ii)  3 (i)

3  251 :5

 11

 5  3  4 :6


 2 (b)  (a)

 (c

 5  
 7 :7


 (a)

 (b)

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(Statistic) 
Card -3 (Above Average)

:(MCQ)

 5  5555 :1

1 (b) 5 (a)

25 (d) 0 (c)

 8  13  8  :2

7 (b) 6 (a)

9 (d) 8 (c)

 :3

 (a)

 (b)

 (c)

 (d)

 :4

 (d) M.D (c) Q.D (b) S.D (a)

 :5


 1 (b)   0 (a)

 (d) -2 (c)
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:(one mark)

 'x'   10  x, x+3, x+6, n+9  x+12 :6

 10  :7

 'n'  :8

 ()  :9

 (S.D)  :10

:(2/3 mark)

 3  :11

    

 15 30 25

S.D 2.7 5.7 3.5

 :12

C.I 4 - 8 8 - 12 12 - 16 16 - 20

f 3 6 4 7

 :13


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
 (i)

5 (b) 3 (a)  

2  (d) 1 (c)  

9 (e)  

 200  (ii)

 S.D  :14

x 10 12 17 21 26

f 2 4 8 5 1


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(SURDS) 
 Card -3  (Above Average)

 4  .I

 (4) .1

4 (d) (c) 6 (b) 5  (a)

        .2 

5  (d) 3 (c) (b) p (a)

 2   33  .3

(72)     (b) (33)  (c) (72)     (b)  (6)  (a) 

 p+q  .4

 (p)  +  (q)  (b) p +q  (a)

p - q  (d)  (p +q)  (c)

  +   .5

 -   (b)  +   (a)

 -   (c)  +   (c)

 27  + 75  + 48 .6

   (d)        3 12   (c)   150   (b)    123  (a)
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:(one mark)

 (5x  - 3y )  .1

(6a  - 5 b )   (6a  + 5 b )  .2

 34   52  .3 

 nbn+1 an-1 .4

:(2 marks )

 5  +  5 .1

    8      8  .2

 .3
610  43  1225  


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(POLYNOMIALS) 
 Card -3  (Above Average)

 .I

 - 15   15  .1

x2 - 15  (b) x2 - 15 (a) 

x2 - 225 (d) 15x2 - 1  (c) 

 3   x2 - 5x + 4  .2

3 (d) 0 (c) - 2 (b) 2 (a)

 .3

ax2 + bx + c (b) ax3 + bx2 + cx + d (a)

x2 (d) ax+ b (c)

x = -1  p(x) = 2x2  +      x +13  .4

(d) (c)  (b)  (a)

 4x + 1  x - 2  4x2 - 7x + 9  .5

- 13 (d) 13  (c) 11 (b)  -11  (a)

:(one maks)

 .1

 x  .2

 2x3y2 + xy +  y2  .3
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 3  x3 + 19x +  14  .4

  f ( -     )  f(x) = 3x + 1  .5

 - 4  x2 - x - (2k + 1)  k .6

:(2 marks)

 f(x) = 5x - 8  .1

f (    )  (i) 

f (-3)  (ii) 

f (   )  (iii) 

 2a2 - 2 2 a+1  .2

 x +     2x3 + 3x2 + x + 1  .3

 .4

3x-2  3x3 + 10x2 -14+ 9  .5


(-2x + 4)  (x-1)  g(x) x3 - 3x2 + x + 2  .6

 g(x) 

 f(x) = x3 - 125  .7

 3x4 - 15x3 +13x2+ 25x-30  .8

  - 5/3  5/3

 - 3  1  .9
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 .10

(6x4 - 29x3 +40x2 - 12)  (x-3)

:(2/4 makrs)

 g(x) = x -2  p(x) = 2x4 - 5x2 +15x - 6   


 .1

 x2+ 3x - 10  .2

 6  -5  .3

 f(x)= x2+ 7x + 12  .4

 1      .5


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(Quadratic Equations) 
Card -3 (Above Average)

   :(M.C.Q)  :I

  x +     =2 :1 

x2 + 2x + 1 = 0   (b) (x2 +    )2 =  22 (a)

x2  +  2x  = 0   (d) x2 -2x + 1 = 0 (c)

 x2 - 3x - 1 = 0 .2

x +     = -3   (b) x -    = 3 (a)

x -      = - 3    (d) x +     = 3  (c)

2+2=  x2 - 2x + 2 = 0       .3

4 (d) 1 (c) 0 (b) 2 (a)

 ax2 + bx + c = 0  .4

 (d) 1 (c) b=0 (b) a=0 (a)

 x = 2  3x2 - 5x - 2 = 0  .5

1 (d) -2 (c)   -2 (b) -2 (a)

 (b-c)x2 + (c-a) x + (a-b) = 0  .6

 (d)  (c)  (b)  (a)

 2x2 = 5x  .7

10 (d) 23 (c)   25 (b) 27 (a)
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:(2 marks) 

 8  480  :1

  3 

 'x'    x  =       x =  -      6x2 - x - 2 = 0  :2


 (2x - 3) = 2x2 - 2x + 21  :3

 p = 5 - 2p2 :4

 y =       x2 - 2  :5

:(3 marks) 

  +         =         :1

 AC  BD  AB=BCABC  :2

 B C = 2x + 1   BD =2x - 1 DC=x 
:(4 marks) 

 y = x2 - 8x + 7  :1

 4  6  :2




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(SIMILAR TRIANGLES) 



 Card -3   (Above Average)

 .I

 AB  DP P  BC  ABCD  :1

 L 
DP : PL = DC : BL 

 360  PQR  7  6,5  ABC .2

 ABC ~ PQR 

AX : X B = 5 :1  4:5=ABC:        XBCY  XY||BC  .3

 


 .4



  .5



 PY = 4cm  PQ = 6cm  .6

 QR  PR  PX : QX = 1:2
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 AP = 3cm  PQ||BC  .7

AB =5cm AQ = 6cm   AR = 4.5cm

 AD  AC = 10cm 

 M = 90°  B = 90°  .8

=       (ii)      ABC AMP (i)

 BD = CE  B =   C  .9

DE||BC

 ACBC  DEAB  DBBC  .10

= 
 CA  BCAB  F  E,DABC .11

 DEF =      ABC
PE=EQ  BD=DC  PQ||BC  .12

M  ABCD  .13

 AD  L  BM

 EL = BL  E

 2:1  .14




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(PHTHAGARAS THEORAM)  


 Card -3  (Above Average)



 
 





 kz  ky kx  
 





  z  y , x  .1

 20cm  .2

 8cm

 12cm  18cm  .3

13cm  5cm  .4

 BC 

 15m  20m .5

 15m 


 'a'       .6

 DB : CD = 3:1  BCAADABC .7

BC2 = 2 (AB2 - AC2)

2m  4m   .8


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 .9

AB2 - CD2 = BC2 - AD2

 36m  15m  .10



  ABC .11

 9cm2  25cm2 

 AABC  AD2=BC.CD  ADBCABC .12

 1:2:3  .13


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(TRIGNOMETRY) 
 Card -3  (Above Average)

  1+2  1/3 = tan 2 ,  1/2 = tan1 

 a2 - b2 cot    b = a sin  .1

b (b) a  (a)

  (d)   (c)

 B =  90° ABC .2

 cot A + cot C =  b=Ac , c = AB + a = BC

  (d)   (c) a+b (b)   (a)

 cosec2 + tan2 .3

cot2 + tan2 + 1 (b)   (1tan2) (a)

cot2 + tan2 + 2   (d)   cot2 + tan2 (c)

 sin2  cose2 .4

2+sin2cose2 (b)  1 (a)

1sin2cose2   (d)   1+sin2cose2 (c)

 3  .5


90° (d) 60° (c) 45° (b) 30° (a)
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a2+b2_____
b

a2 b2_____
b

A

b

B C

c

a

c2__
ab

c2__
bc

b2__
ac



 .6

 (b)  (a)

 (d)  (c)

:(on mark)

 t90°  4sin2-1=0  .1

 tan  cos sin = 5/13  .2

 tan + 1/2  90°  sin = 5/  .3

 tan30°  cosec60°  sin245 .4

 cose - cot   cot = a - 1/4 a  .5

 x2 =     tan =      sec = 3x  .6

   - cot2  .7

 (tan  + cot )2 - (cot + sec)2 + (sin + cos)2 .8

:(2 mark)

 y = b sin x = a cos   .1

  +   = 1

sec2 1 = 2tan  + tan4  .2

 a tan + b sec  = n   a sec + b tan  = m  .3

a2-b2  = m2 - n2

+       = 2 sin A + cos A  .4
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 .5

(1 + tan2 )  (1  sin) (1  sin) =1

 .6

(1 + cot A - cosec A)  (1 + tan A +  sec A) = 2  

:(3 mark)

sin =  Sec + tan = p .1

 sec  - cos  = m  cose  - sin  = 1  .2

l 2 m2( l 2 + m2 + 3) = 1

 tan - sin = n  tan + sin = m  .3

m2-n2 = 4mn 

 a2 + b2  b sec  + 4 tan  a sec-3 tan 4  .4

             tan  = p/q  .5

= 

 sec = 5/4  .6

  =              

 45°  30°  100  .7


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P2 -1_____
P2 +1 

p sin q cos______________
p sin q cose

p2 -q2_____
p2  q2

 tan_____
1+tan2

 sin_____
sec



:(4 makrs)

 .1

 45°30°  12 



 30°  3  .2

 60° 


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(Coordinate Geometry)  )

Card -3 (Above Average)

:(one mark) 

 (x3 y3)  (x2 ,y2) (x1 ,y1)  :1

 -1  :2

 -y    -x  :3

 '0'  :4

 (5,6)  (3.4)  :5

:(2 marks)

 C(a,b)  B(1, - 3) A(-2,5)  :1

 BC= AC 6a - 166 + 9 = 0 

 (7,15)  'x'  (x,5x+3)  :2

 10 

 (3,-1)  (1,2) (0,-3)  :3

 C(2,-1)  B (-1, -1) A(-3,3 )  :4

 3x-7=-y  B (5, -8)  A(2,1)  :5

 (-1,-3)  (-6,2)  (3 - 4)  :6


 C(0,7)  B(-3, 4)  A(1,2)  ABC :7
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:3(marks)

  (6,-8)  (3,10)  (-1,k) :1

 k

 C(8,5)  B(2,3) A(1,2)  3  :2

[  ]

AP:BP = 3:2  p(-4,-2)  B  y  A  -x APB :3

  B  A 

 k  -x  B(6,-5)  A(2,3)  :4

 k (i)

 ABk (ii)

 5 PQ  Q(3,-4)  P(-5, -6)  :5

 A  5AP = 3PQ 

 9x+4y = 3  (3, -k) (ii) (k,6) (i)  k :6


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(Circle-chord Porperties) 
(Circle-Tangent Porperties) 

 Card -3  (Above Average)

 .I

 2cm  5cm  3cm  .1


 (b)  (a)

 (d)  (c)

BX =  PB= 5cmPQ=8cm  BC  PR  PQ  .2

5cm (b) 8cm (a)

2cm (d) 3cm (c)

BAO  BOX = 65°  .3

35° (b) 25° (a)

55° (d) 45° (c)

PQ  4cm OX  5cm  .4


4cm (b) 5cm (a)

10cm (d) 6cm (c)
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QPR =  QOR = 110°  .5

70° (b) 60° (a)

55° (d) 50° (c)

:(2marks)

 5cm  13cm  .6


 80°  3.5cm .7




 40°  3cm .8

 BC = 25 QB=27cm BC=3.8cm  ABCD   .9

 ADDC

 5cm  .10

 2.5cm  4.5cm  .11


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 3cm  5cm .12

 50cm

 8cm  2cm  4cm .13

 8cm  3.5cm  2.5cm 14


AC=6cm  AB=10cm  .15

 'x'  2cm 

 O  DB  AD, ABC=68°, AB=BC  .16


APB  (iii)     AOB (ii)     ACB (i)


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(Memsuration) 
Card -3  (Above Average)

 r units  :1

  

 cubic unit 

 3m    :2

 53m  105m 


 :3

 10.2cm  4.2cm

 13cm  14cm  :4 



 :5

 7cm  12cm   4.2cm 



 2cm  :6

 4cm 

 :7

 3.5cm  10cm 

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(Memsuration)   

(Scale Drwing) 
Card -3 




 (1)

 (2)



40

(1
C 

E 60
B 80

200
120
70

A

D 

E 60

F 60
F 15

175
125
100
80
60

C20

B70

A

(2

(3
C 

D 100
E 75

B 50

350
300
250
150
50

F 150

G 100

A


	10 Maths Final Card -1
	Card -1-Prlimes
	Card -1

	10 Maths Final Card -2
	Card -2-Prlimes
	Card -2

	10 Maths Final Card -3
	Card -3-Prlimes
	car-3


